! Yncna m BblYUCIEHUS

3a4aHua ANng YCTHOro cyeTa
YnpaxHeHune 1

6 Knacc



* BbINONHUTE AENCTBUS:

20




ﬁ BbINONHUTE AENCTBUS:




ﬁ BbINONHUTE AENCTBUS:

2016 9 -
504




* BbINONHUTE AENCTBUS:

55-2:15= 25
3:15+5 = 50
12427:3 = 21

7-6+4:2 = 50 “\)
3-(4 +12) = 48
5.7 -21:7 = 32 ;"“




* BbINONHUTE AENCTBUS:

13
5 5
3 4 7
+ =
10 10 10
12 4 16
25 25 25

10 5 15

13 13 13

3 1 4
—_t—= —
7 T 7

2
—+
5




BbinonHUTE 4eNUCTBUS:




ﬁ BbINOAHUTE AefeHune:




ﬁ BbiNnofHUTE YMHOXEHME:

0,062

=

960 -0,0
1

0,0016




ﬁ BbINOAHUTE AefeHune:

0,26 O 1

it




ﬁ BbiNnofHUTE YMHOXEHME:

0,0072

=

0,0
9605 01

0,0006







